ofin

50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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WWMax Marks: 100

Note: Answer any FIVE full questi%nsg g?ﬁ)"osing ONE full ques:g"" n ﬁ'om each module.

1 a

3

4 a
b.
c.

1

2 3 2

i,

Find the rank of the matrix by éie;mentary row transformatwn

2x+

OR
Find the rank of the matrix by elementary row tmnsfo%a ion

Test for conmstency and soly‘ x4 y +z=6,

Solve (D* —3D + 2)y — 0 Where D = di,

Solve (D? + Zb +1)y =2x +x*> where D= 8

AY

’*«

s

Solve (D> -4D+ 13)y =cos2x where D = i

OR

X

,,,,,,

Sy =3

-

Y “%%W

i wﬁs@g vl

X-y ¥2z=35,

dx

dx

1of2

y Gauss elimination method:

Wl

P g

g ty

™y
g

21 1

2 -1

-1 2
3x+y+z=38.

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)
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a.

b.

C.

17MATDIP41

Module-3
Find the Laplace transform of the function L{e™'(2cos5t—sin5t)}. (06 Marks)
Find the Laplace transform of the function L{t-cosat} . (07 Marks)
If f(t)=1t* 0 <t<2,and f(t + 2) = f{t), for t > 2, find L{f{(t)} , (07 Marks)
" (06 Marks)
(07 Marks)
(07 Marks)
. | Module-4 N
Find the inverse Laplace transform of the function J + 2 - 4 . (06 Marks)
A s+2 2s+5 3s-2
Find the inverse “L‘aip“lace transform of the ﬁxnatibn 3S_+2—— . (07 Marks)
e (s=2)(s+1)
2
Solve byu: Laplace transforms <~———=—— given that y(0) =2, y'(0) = 0. 07 Mark
olve Y bging Laplace transfo iwdt’-szy:Og ¥(0)=2,y'(0) (07 Marks)
Find the inverse Laplace tr “"’sform of'the ﬁlnctlon: s+2 + d5-1 te (06 Marks)
g e s*+36 st + 25
Find the inverse Laplaée transform of the fu t1 \ _s~t_—__2_~ (07 Marks)
o W s?(s+3)

A, - ey (07 Marks)

<V Module-s |
A bag Contains 7 white, 6 red and 5 black balls "two balls are drawn at random. Find the

probability that they erl both be white. (06 Marks)
If A and B are any two ?;vents, then prove'that P(A UB) =P(A)+P(B)-P(ANB).
F (07 Marks)

", (07 Marks)

%
—_—

A has 2 shares in a lottery in which there are 3 prizes and 5 blanks; B has 3 shares in a
lottery in which there are 4 prizes and 6 blanks. Show that A’s chance of success is to B’s as

27:35. (06 Marks)
A card is drawn from a well shuffled pack of playing cards. What is the probability that it is
either a spade or an ace? (07 Marks)

A bag X contains 2 white and 3 red balls and a bag Y contains 4 white and 5 red balls. One

llllllllll

that it was drawn from bag Y. (07 Marks)

A % % %k ok ok

20f2




